Algebra. ’ 359

ALGEBRA. FORM I[l1., 18¢3.
C. P. MUCKLE, B.A.
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() x—x+x+x+x+x2+x+x‘=r—x2 x+x‘-’+x+x‘
4 4 8 8

=x—x‘+l+x‘=(l-—x‘)(l+x4) = (1-x8)

2. Since x*=x—1, x2~x+1=0; .. x3+1=0, being=to (x+1)(x? —x+1).
Now,>6—3x5+2x4—x3—3x-+2x 2=x0—1—3x5 - 3x2oxt$2x—x3- 1
=(x3—1)(x3+1)-3x2(x3 1)+ 2x(x3+1)-(x3+1)=0.

Qr, substituting x® =(x2)3=x - 13, etc., reduce the expression.
3. (@) (a2+b2% ~c2)2 - 4(ab)2=(a%+b2-c®+2ab)a?+b2-c?-2ab)

=(a+b+c)a+b-c)a—-b+c)a—-b-c).
(8) xP+x3—x2--1=x3(x2+ 1) - (x2+1)=(x2+1)(x3 —1)

= (x+ /= 1) (x= /= D)(x—1)(x2+¥+T1)
= (x+ VoD (x=J=1) (x - l)(x+!—-—-';—/:—-§-) (x +‘—i-';/—_-3>
() ;xe—yﬁ-—222+3yz—xy=(2x+y-—z)(x-—y+2z).

4. ¥=1i%= i i5=iit=+i, etc. .
L (14i)1+41%).... tonfactors ={1+1)(1~i)(1+i)(1~1).... to n factors

=3 (i) —i) b = 2F= (V2 -

5. Assuming that (+a)x (+b) is +ab, or +a taken b times additively, then
(—a)x(+b) must be equa} (—a)taken b times additively
=(-a)+(-2a)+(-2).... tobterms =b(-a)=—ab

And (- a)x(—b) must be ( a) taken b times subtractively or ~(—a)~(—a)..
to b terms, or —(-ab)= +ab.

6. (@) and (&) Book-work. .
(c) i

’

1462+ 5022 — 225 — 15241+ 524+ 22~ 1323 + 624
I+52+ 22—132%4+ 6241 +Qz+ 1122 - 2128
z{14+9z+112% - 2123)| — qz—102% + 823+ 6z}~ 4z

1

14-22— 322 — 4z~ 3622 — 4425 + 8424
+72 724 1422 — 2128 262%(1 + 22 — 322
T2+ 1422 - 212° !
) . 8 17
Let 7x=A’s money, 8x=DB’s money. . 7X+ 19 =L
7. LeL7x=R money, Voo &g

x (7.19—8.17)=18.17 - 19.18=18(17 — 19)= — 36
—3x=—36, x=12 ; 7x=84=A's money, 8x=96= B's money.




